
stream codes (Mackay chapter 6)



problems with Hu↵man codes

changing ensembles

the extra bit: we know Hu↵man gives H(X )  E[LC (X )]  H(X ) + 1

E[length] = 1.034

H(X ) = 0.114

E[L]/H(X ) = 9



the guessing game

–

–



how to model data sources



two approaches to stream coding



arithmetic coding



arithmetic coding



application of arithmetic coding beyond compression

https://www.youtube.com/watch?v=nr3s4613DX8



Lempel-Ziv codes (dictionary codes)



Lempel-Ziv-Welch coding


